Efficiency vs Dxy(PV)
bl

T
-

o
e

efficiency vs dxy(PV)
o
o]

0.4

0.

5=30-15-10 =5 0 5 10 15 20 25
TP dxy(PV) (cm

—=— DQM_V0001_R000000001__Global__CMSSW_ckiPU50__RECO

—— DQM_V0001_R000000001__Global__CMSSW_mkFitPUSOLowPtQuad__RECO
—— DQM_V0001_R000000001__Global_CMSSW_LowptQnoclean__RECO

[ Efficienc] —— DQM_v0001_R000000001__Global__CMSSW_looseSC__RECO

efficiency vs dxy(PV)

Ratio

0.

951080604020 02040608 1
TP dxy(PV) (cm)

Efficiency vs Dz(PV)

S T T T T

a : : : : :

N [ .

'S) L N N % N N

S 08

2 3 N N N N N

o

e L

£ ogfe et

3} L . . . . .
7 SO SR SO 1 SO S
0wt i

° l-G- 1 1 1 1 1

g

@

10 20 30
TP dz(PV) (cm)

Efficiency vs Dz(PV)

S 1. 5
[a L
¥ :
P 1-—9 BT ?-o
2 :
> r N
o o . .
& 0.8 : :
s I : :
s | : :
0.6f-- : H
o.4af-t----HIHH- - feeeeens i
(] SESR ifeeens feeeeans : i
o sbf i i
T .
4 .
e oo - <-4 - oo
0.95 .
-1 -0.5

0.5 1
TP dz(PV) (cm)



	Contents
	Page 1


